Some ltems In The List To The Right
May Not Show In The Diagrams Below.

PART NUMBER

DESCRIPTION

FH1425-K

FH1425 Luan Backing

FH1425-HA-RLQ

FH1425 S/A Left Knotty Alder Barn Door

84336 47893 47893 Knotty Alder MDF Door
84336 84336 84336 Farmhouse Door Roller Bracket
= 84335 84337 84337 5/16-18 x 1-1/4" Socket Head Black
84338 84338 Acorn Nut 5/16-18 Black
84338 84339 84339 Flat Washer 5/16" Diameter Black
B 84340 84340 Lock Washer 5/16" Diameter Black
FH1425-HA-RRQ [FH1425 S/A Right Knotty Alder Barn Door
< - 47893 47893 Knotty Alder MDF Door
I I [ T— / 84336 84336 Farmhouse Door Roller Bracket
84337 84337 5/16-18 x 1-1/4" Socket Head Black
84338 84338 Acorn Nut 5/16-18 Black
84339 84339 Flat Washer 5/16" Diameter Black
L — 84340 84340 Lock Washer 5/16" Diameter Black
= g 84323 84323 Dark Antique Brass Drawer Pull
84335 84335 Farmhouse Door Track
84337 84337 5/16-18 x 1-1/4" Socket Head Black
47893 _ 84339 84339 Flat Washer 5/16" Diameter Black
U \ 84214 Furniture Tipping Restraint Kit
84323 —
47893
T§
L 5T
1 ; g
— @ .
[ (e}
FH1425-K






